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QUESTION 1

A vSphere administrator added a new interface to a Distributed Router with a subnet of 172.16.10.0/24 and wants to
make this subnet reachable to the rest of the network. How can the vSphere administrator achieve this?

A. Enable OSPF on the Distributed Router. Configure the uplink interface in the Backbone area and redistribute into
OSPF the 172.16.10.0/24 subnet.

B. Enable OSPF on the Distributed Router. Configure the uplink interface in the normal area and the new interface with
the subnet 172.16.10.0/24 in a Backbone area.

C. Enable OSPF on the Distributed Router. Configure the uplink interface in the Backbone area and redistribute from
OSPF the 172.16.10.0/24 subnet.

D. Enable OSPF on the Distributed Router. Configure the uplink interface in the Backbone area and the new interface
with the subnet 172.16.10.0/24 in a normal area.

Correct Answer: D

QUESTION 2

A company has augmented its Data Center infrastructure by using vCloud Hybrid Service during peak hours. The
company wants to extend their existing subnets into the cloud while workloads retain their existing IP addresses. The
virtual machines in these subnets use an NSX Edge Gateway as their default gateway.

Which solution should this company use?

A. Layer 2 VPN

B. MPLS VPN

C. IPSec VPN

D. SSL VPN

Correct Answer: A

QUESTION 3

Which component automates the consumption of third-party services and provides mapping to virtual machines using a
logical policy?

A. NSX Manager

B. Cloud Management Platform (CMP)
C. Service Composer

D. NSX Data Security

Correct Answer: C

Latest 2V0-641 Dumps | 2V0-641 Practice Test | 2V0-641 Exam Questions 2/4


https://www.passapply.com/2v0-641.html
https://www.passapply.com/2v0-641.html
https://www.passapply.com/2v0-641.html

VCE & PDF https://lwww.passapply.com/2v0-641.html
2024 Latest passapply 2V0-641 PDF and VCE dumps Download
PassApply.com

QUESTION 4

-- Exhibit -

Name: # DB-Tier j

Type: (*) Internal () Uplink
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Connectivity Status:  (+) Connected () Disconnected %
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-- Exhibit -An administrator is deploying a distributed router and is adding an interface for a logical switch, as shown in
the following exhibit.

The administrator clicks on the Change link to specify the network to connect to. Selecting the distributed portgroup, the
administrator finds that no portgroups are listed. The administrator verifies the desired portgroup exists in vCenter
Server.

What condition would result in this behavior?

A. The MTU size is set to 1500.

B. A subnet has not been configured.

C. The interface name has an invalid character.

D. The interface type is incorrect.

Correct Answer: D

QUESTION 5

Which three network policy settings can only be configured on a vSphere 5.5 Distributed Switch? (Choose three.)
A. Access Control Lists (ACLS)

B. Network I/O Control

C. LACP v2

D. NetFlow

E. DSCP Marking

Correct Answer: ACE
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